
SAP ABAP table TTEC_INCIDENCE_T {Tax Incidence in Tax Transaction Engine}

TTEC_INCIDENCE_T

CLIENT [CLNT (3)]

LANGUAGE [LANG (1)]

COUNTRYISO [CHAR (2)]

TAXTYP [CHAR (4)]

INCIDENCE [CHAR (4)]

TTEC_COUNTRIES

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]
 TTEC_INCIDENCE_T-COUNTRYISO = TTEC_COUNTRIES-COUNTRYISO 0..N

1

TTEC_INCIDENCE

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

TAXTYP [CHAR (4)]

INCIDENCE [CHAR (4)]

 TTEC_INCIDENCE_T-INCIDENCE = TTEC_INCIDENCE-INCIDENCE 
0..N1

TTEC_TAXTYP

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

TAXTYP [CHAR (4)]

 TTEC_INCIDENCE_T-TAXTYP = TTEC_TAXTYP-TAXTYP 

0..N

1


